Laney College


AMATYC Contest (Fall 2010)               SOLUTIONS

1. [D] The perimeter of each rectangle is three times the length of a side of the square.
2. [C]  The cost of milk to that of bread was 150:100 last year, and so (150)(120%):(100)(125%) this year, i.e. 180:125, or 36:25, i.e. 144:100.
3. [C] 
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7. [A] The line segment joining 
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9. [A] The number of 1-digit even numbers = 4.  The number of 2-digit even numbers = (the number of 1-digit numbers)
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 digits.  The remaining 
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 digits come from 4-digit even numbers.  
[image: image38.wmf]2

4

141

566

+

´

=

, so the answer is the hundreds digit of the 142nd four-digit even number, 1282.
10. [A] A number is divisible by 7 precisely if, when the digits, starting from the ones digit, are multiplied by 1, 3, 2, 
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 is divisible by 7.  Let A be 1, M be 0.  In order for AMATYC to be divisible by 5, C has to be 5 (as 0 is taken by M.) So 
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11. [B] Want a number 
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12. [A] Let 
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13. [D] 
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14. [C] The problem boils down to calculating the percentage of the 1 x 1 square shown that is shaded.  Note that 
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15. [D] As shown in the accompanying picture, the area is 
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16. [E] For 
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17. [B] The integer geometric sequence is 
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19. [E] 
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, where all coefficients are nonnegative integers.  It follows from the condition 
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20. [B] Note that 
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